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1.

All questions carry equal marks. Answer any five questions.
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Questions should be answered either in Hindi or in English, but the
same medium should be used throughout the paper.
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Explain briefly the main steps taken to estimate national income by production

method.
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(a) What is an investment multiplier in a two sector model? How is it related to

(b)

(a)

(b)

marginal propensity to consume?
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(i) What will be the change in income if the change in investment is Rs.1000
crores and MPC =3/4?
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(ii) Calculate the value of multiplier if MPC is zero or 1.
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What is personal disposable income? How is it calculated? '
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Given the following consumption function C=100+0-8Y. Derive the
corresponding saving function and compute the value of saving when
Y=Rs.1000 crores.
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Distinguish between actual GDP and potential GDP. How would we correct this

gap in a three sector model? :
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(a) Explain the movement along and shift of the AE function. _
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(b) Suppose you are given the following information:

Consumption function C=60+0-8Yq4 Disposable income Yg=Y~T
Taxes T=Rs. 40 crores Investment I=Rs. 70 crores
Government expenditure G=Rs. 70 crores

Net Exports NX=50—-0-10Y4

Find the equilibrium output.
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(a) Explain the prqcesé of credit creation by commercial banks.
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(b) If cash reserve ratio is 5% and initial deposits are Rs. 10,000/-, what would be )
the credit money supply in an economy, assuming that cash with the public is

-zero?
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Explain why an increase in tax revenue accompanied by an equal increase in- -
Government spending will not have a neutral effect on GDP.
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Write short notes on any two:

(a) Speculative demand for money

(b) Narrow and Broad measures of money supi)ly (c) Net Exports.
B a g faogof ﬁﬁ—rﬂ:

(F) Wzl ¥ 4R A (@ wdl o forga g1 A gl

(M =1 F el feg - Tz + T2 ‘

1500



